
Yogurt   Rubric

Points
Section
points

1. Gives correct answer:  15¢

Shows calculation such as:  20 x 75
                                                100

1

1

2

2. Gives correct answer: 50 gallons

Shows calculation such as: 1600 x 1 x 1
                                                            4    8

1

1

2

3. Gives correct answer: 2500 gallons

Shows calculation such as: 50 x 10 x 5

2

1 ft
3

4. Gives correct answer: 40%

Partial credit
Gives answer :140%

Shows calculation such as: 2 x 100
                                                5

2

(1)

1 ft
3

Total Points 10




